003 G5 T7KS

5k (1)

HBHEFOAR
F—5HA -

SIS

TSRS

15811
(k] 8% 7

[BHEH] (2)

[fRing ]

[#Hi%]

[Fe4 3R] (3)

(R SE A RERTTE/] (3)
{(WEEBEER] )

[RHA]

[BHE RO EREE OB () )
[#RHHRERE] (5)

#1 [RITHIZET HFH] (6)

AR ALK ECIT B4E31 8

FRR1549A 58
FRC154E9A 11 H
14
T DAl

BAT LD B BAot TAS

Stha—-F 8165

£ FER ORI 35

LBIEFHETIFT W GRS S| T

AJE T AE KIEF AR L1 T B 48315

2 [BHE LT HEIE]

1 [fRHE (RBEEH) /11D
(D) [RHEEOBE] (8)
D [BHEE (KREFE) ]

&8N - i A DB

A (M)

B XA FF

BrAZHE FHES

{ERT ST A IERRTE#

TH30—0035 KERMALKRLLIT B4&31S

IH R4 i34

(A{ERR XA BB

@ [BADEE]

R A

e 2

BE AR

L TR




E—HEA(2) .k
6 ¢ YN

RAMFEAH TFR214E3 A 22H

fRRERAE 1745 #al

AR RENRRLE

EENE WERGEE, EREEERURITE - RE

D[ EH EoE#Es]
EX LoEKERRYEEL BT EREEE ABH #EA
BiEES 06-6881-3120
@ [EFEM]G®

HEEAOERDRELERD, REFIROEELRD,

) [ ERRENE ORFHREFOARRI10)

OIFF#HREEOE]

ST RO2IEIE AL

EHTERODIVEVEE1S

EE2TROEIEE2E

B (B

4,753,000

RS | ZHEiEE (bR

B TROMERESE (B

BTSSR

HBAMAEFRA S —RKTF

PREFTRALAE 37

PRIF B FREESE 28

X B A RS R AR

i ()

4,753,000{N

EHEE LRI L =28k
NIRRT O RO

RERESEOE (B
{(MH+N+O-P)

4,753,0008%

HRABTEROHK
(A+B+CAD+E+F+G+H+1+]+K+L
)

R

@IEHERESIO]

BRITHEARE 8
(ERE155E9A 5 0 BAE)

v

47,630,3938%

LEEHED
BESEREERE (%)
(Q/(R+S) X 100)

9.98%

EATOHEBECLZHIIE
HRERAEE (%)

8.47%




E—54\(3)
(4) [HERBFFORTEORITIOREZICHETIREIT60 A MORETAFOHRM] (1)

£ R BEEOHEE HE BB X i34y oRl| HL{
ErE154E9A 1H EIF R 117,000 H$5
TR 1549A5R EiEpREL 276,000 H&

(5) [SRErpZ R ToEEENEEELRN] (12)
FUBEHIHVERA

(6) [RFAHESEOREES] (13)
O [BREESDNR]

AC&E&#E (T) (T 2,332,875
EASEE (U (FH)
*otesE V) (FH)
LEEMWMORR

DEEEEE (TM)  (T+Uw) 2,332,875

@ [{EAE&DHR]
HE] A% (KELR) £ 4 REE4 e BARE [T

—

O] W]

—
o




